Bartels, pp. 1-63 due read by 3/21
Before Working through the “Potential Quiz Questions,” make sure you familiarize yourself with the “Political Economy Primer” and the “Statistics Primer” which appear immediately ahead.  Not only will the material from both “primers” appear on any quiz this week, but this material will appear on both future quizzes and the final examination.

Political Economy Primer: In order to fully understand pages 1-63 in Bartel’s book and the discussion about it I will undertake in class, you should be familiar with several macroeconomic concepts.  The Natural Rate of Unemployment is whatever unemployment rate keeps the inflation rate unchanged (i.e., constant).  For example, today the natural rate of unemployment is thought to be approximately 4%.  This means that if 4% of those looking for work cannot find jobs then the inflation rate should remain at its current level.  If unemployment were to go below 4% (i.e., the current natural rate of unemployment) then inflation would likely increase because workers would have more money (due to more workers working and higher wage levels brought about by increased competition for workers) to chase a supply of goods and services that was probably not expanding as fast as wages were increasing.  Thus, workers would have more money to “bid up” prices.  Conversely, if unemployment goes above  4% fewer workers will be working and the wages for current workers will increase less quickly.  This reduced ability to “bid up” prices means that unemployment above the natural rate of unemployment should reduce the inflation rate.  

The Core or Underlying Inflation Rate is the same as the inflation rate you typically read about in newspapers or see reported on television with the following important exception: food, shelter and energy are not counted.   Put another away, the “core” rate of inflation is the percentage increase in prices of all products except food, shelter and energy.   Due to their volatility (i.e., prices fluctuate wildly) the prices of these items are particularly difficult for government to influence.  For example, a drought can greatly increase food prices but how could a president influence the amount of rain?  

The  Blinder Rule provides a relationship between unemployment and inflation that government can utilize in order to reduce either unemployment or inflation in the short-run (typically thought to be two years or less).  The Blinder Rule states that a 1 percentage point increase in unemployment above the natural rate of unemployment endured for a year lowers the core or underlying inflation rate ½ of 1 percent (i.e., .5%).  Thus, if the government was trying to reduce the inflation rate and the natural rate of unemployment was at 4%, only unemployment rates higher than 4% (e.g., 5%, 6%, etc.) would reduce the core inflation rate.  Much of the early portions of Unequal Democracy discuss the impact of partisan politics on change in the growth and distribution of income.  Generally speaking, the cost of reducing inflation is to increase unemployment, reduce economic growth and increase the degree of income inequality in the United States.  Since virtually all voters regard both unemployment and inflation as undesirable (i.e., they prefer less rather than more of both) and the Blinder Rule indicates that unemployment and inflation are “negatively” related (i.e., move in opposite directions – increased unemployment is associate with reduced inflation and vice versa), political parties face a choice: they cannot simultaneous reduce both unemployment and inflation.  

The Marginal Substitution Rate shows the relative value that groups of voters place on unemployment and inflation.  Put another way, the marginal substitution rate shows the rewards that various groups of voters provide political parties for reducing either unemployment or inflation.  The numbers ahead answer the following question: If inflation increased by 1% (which voters don’t like) how much would unemployment have to decrease (which voters do like) in order for a president to retain the same level of support among the group of voters as they had prior to these changes (just keep reading – it will became much easier to understand when you read the example ahead).   The marginal substitution rates are as follows: Democratic Voters -  .9; Independent voters -  2.0; Republican voters -  1.5.  All this should become clear with the following example: Since the marginal substitution rate for Democratic voters is .9, if inflation increases by 1% (which reduces President Obama’s popularity) while unemployment decreases by .9% (which increases President Obama’s popularity) Obama’s popularity among Democratic voters would remain the same.  Therefore, if prior to the aforementioned changes in inflation and unemployment, 82% of Democratic voters approved of the job President Obama was doing as president and inflation then increased by 1% and unemployment decreased by .9% Obama’s popularity among Democratic voters would remain at 82%.  Notice that for both Independent and Republican voters the marginal substitution rate is greater than 1.0 (i.e., 2.0 for Independents and 1.5 for Republicans).  This means that both Independent and Republican voters “value” reducing inflation more than they value reducing unemployment (because it takes a larger decrease in unemployment to offset a smaller increase in inflation – i.e., the group more values the item it is willing to accept less of – inflation in the case of Independents and Republicans).  On the other hand, notice that the marginal substitution rate of .9 for Democrats is less than 1.0.  This means that Democratic voters value reducing unemployment more than reducing inflation (because they are willing to accept a lower reduction in unemployment in exchange for a larger increase in inflation).  

All of this explains the “big picture” of the results Bartels finds: although all income groups do better under the Democrats than the Republicans, the rate of income growth for low and middle income groups is greater relative to the growth rate among high income groups under Democratic administrations.  Political parties economically reward their supporters.  Relative to Republican voters, Democratic voters are poorer, more likely to be unemployed and hence, value reducing unemployment more than Republican voters.  The incomes of the economic groups which are the backbone of the Democratic party (low and middle income groups) grow more quickly under Democratic Administrations.  Democratic Administrations bring these greater absolute and relative gains for lower and middle income groups through the following mechanisms: (1) a willingness to run higher inflation to reduce unemployment than Republican Administrations and thus increase the number of workers and the bargaining power of labor; (2) spend more money on social programs that disproportionately benefit low and middle income groups (e.g., job training programs – note Bartel’s discussion of CETA, food stamps, etc.) and pursue tax changes more beneficial to low and middle income groups (e.g., oppose the Bush Tax Cuts which send as much money to the wealthiest 1% of households – households that make over $325,000 per year - as to the entire poorest 70% of households combined).  By contrast, Republican voters are wealthier and more effected by inflation than unemployment (because more of their income comes from stocks, bonds, etc. - income sources that are more adversely impacted by inflation than are wages). 

One of the themes Bartels will mention, and I’ll mention numerous times in class, is that the party label is more important than the individual candidate.   Thus, it is not the difference between Obama, Clinton or Edwards that is nearly as important as the difference between any of the Democratic candidates and any of the Republican candidates.  For example, McCain may have the “image” of a moderate, but in 2008 he supported the same tax cuts that overwhelmingly favor the wealthy that former President Bush so vigorously advocated.  In 2008 all of the Democratic presidential candidates favored  repealing the Bush Tax Cuts for those making over $200,000 per year.  

Relative to other policy options the Bush Tax Cuts are one of the very least effective, and most costly, methods of stimulating the economy and, ultimately, reducing unemployment.  As economist research indicates: lower-income households spend a higher percentage of each additional dollar they receive than higher-income households.  For example, a household with a $40,000 annual income will spend a higher percentage of each additional dollar it receives than a household with a $200,000 annual income.   This is because lower-income households have greater unmet needs than higher-income households (e.g., replacing a worn out television set, car, etc.).  By showering more money on the richest 1% of households (i.e., households with incomes above $370,000) than on the entire poorest 70% of households combined, the Bush Tax Cuts place the most money in the hands of those least likely to spend it.   

Contrast this with the policy options favored by the Obama Administration and Congressional Democrats: reducing payroll taxes (e.g., Social Security and Medicare taxes), extending unemployment compensation and spending more money on infrastructure (e.g., roads, bridges, etc.).  Since payroll taxes take a greater percentage of income from low-income than from high-income households and the unemployed (as we saw earlier) are more likely to come from low and middle-income groups, every dollar spent on either payroll tax reduction or unemployment compensation will generate more spending than the same number of dollars spent through the Bush Tax Cuts.  The following indicates how much additional economic activity occurs per dollar spent: extending unemployment compensation - $1.60; payroll tax reduction - $1.09; extending the Bush Tax Cuts - $.35 (i.e. for each dollar given to tax payers through the Bush Tax Cuts, we only receive 35 cents of additional economic activity – only a fourth as much per dollar spent as on unemployment compensation – i.e., $.35 is about ¼ of $1.60 - and about 1/3 as much as reducing payroll taxes – i.e., $.35 is about 1/3 of $1.09 -  source: “Zandi Estimates Show “Democratic” Measures in Tax Cut – UI Deal Boost Economy, “Republican” Measures Add to Deficit Risks,” Center for Budget and Policy Priorities – December 22, 2010 – available at www.cbpp.org - these are similar findings to the nonpartisan Congressional Budget Office).   

Since all income groups will save some percentage of the money they receive (i.e., lower-income households will save some money, just not as a great percentage as higher-income households), having the government directly spend money is more stimulative than tax cuts.   For example, if a household receives a tax cut of $1,000 and spends $930 of it (i.e., saves $70), this is less spending than results from having the government directly spend the entire $1,000.   Thus, having the government directly spend money is more highly stimulative and, ultimately, reduces unemployment more than the same amount of money spent through tax cuts.  

Currently, the United States is in the worst recession since the Great Depression of the 1930s.   The root cause of our current recession is that lax regulation of banks and lending institutions permitted more home loans than the income of the borrowers could sustain.  This occurred in a number of nations besides the United States (e.g., Ireland, Spain, etc.).  Increased lending increased the demand for housing, which further increased housing prices.  As housing prices increased, people borrowed more money against what they thought was their increased wealth.  Many people reasoned that since their house was worth more, their wealth was greater and they could immediately enjoy their increased wealth by borrowing money against the value of their home.  In 1990, the average American household’s debt was equal to 83% of it’s income.  By 2007, average household debt had increased to 130% of income.  Eventually, the imbalance between what home owners, and those desiring to own homes, could afford materialized and fewer people could make the payments on the homes they had purchased or borrow against the equity they had in their current home.  As home loans dwindled, a significant source of consumer spending was lost.  Today, household debt has been reduced to approximately 118% of household income.  However, the reduction in consumer spending meant that businesses would need fewer employees.  All of these factors reduced consumer demand, which, in turn, greatly increased unemployment.   

So, what should the federal government’s response be?  The “short answer” is that the government needs to replace the spending that consumers have cutback.  If the government doesn’t provide this spending/stimulus, who will?  This means large federal deficits.  Large deficits are what ended the Great Depression.  A very plausible estimate of the relationship between stimulus and unemployment is as follows:  300 billion dollars of stimulus will reduce the unemployment rate by 1%.   The Obama Stimulus Plan was approximately 775 billion dollars spread over two years.   Given the composition of the Obama Stimulus Plan (e.g., tax cuts – which have low stimulative value) it is equivalent to about 510 billion dollars of stimulus rather than 775 billion dollars.  This means that, due to the Obama Stimulus Plan, the unemployment rate, while high, is about 1.7 percentage points lower that it would have been without the plan (510/300 = 1.7 -  see Paul Krugman, “Stimulus Arithmetic,” New York Times, January 6, 2009).  In order to fully offset the decline in consumer spending and reduce unemployment back to it’s pre-recession level of  5.8% would require a stimulus package at least three times the size of the Obama Stimulus Plan and spread over more than two years.   To make hiring feasible, businesses need to know that government support will last long enough to keep demand high enough to make hiring economically viable.  It’s not that the Obama Stimulus Plan “doesn’t work,” it’s simply too small given the size of the problem.

Many economists think that the federal government needs to do two things to improve the economy: (1) provide a larger stimulus than the Obama Stimulus Plan; and (2) more strongly regulate the financial markets (to avoid the bad loans that precipitated our current problems).  This is difficult for the Republican Party: their ideology conceives of government as “the problem,” not “the solution.” 

Given the previous discussion of which income groups are most harmed by either unemployment or inflation, and the fact that lower-income groups vote more Democratic than higher-income groups, isn’t it clear why the two major political parties choose very different policies concerning unemployment, inflation, taxation and extending health care coverage?   Both major U.S. political parties are pursuing policies that more benefit their supporters than the policies of the opposition party.  That makes sense.    

Statistics Primer: On page 39, Bartels uses the most basic statistical tool of modern quantitative political science: multiple regression.  His interest is in the impact of partisan political control of the federal government on the annual pre-tax growth rate of income for various income groups.  Let me mention that the vast majority of you will read statistical tables at some point in your career.  Within 5 years of graduation over 50% of political science majors work either for the government or private industry.  Additionally, statistical analysis is a very important part of legal analysis.  Thus, regardless of your likely career path, reading common statistical analysis is imperative.  

Fortunately, reading tables such as Bartels uses requires only a minimal amount of knowledge.  Let’s look at how to interpret the multiple regression table on page 39.  We are interested in concepts (e.g., partisan control of the federal government, change in oil prices, etc.) that can assume different values.  Concepts that can assume different values are called “variables.”  By contrast a concept that can only assume one value is a “constant” (i.e., always the same).  Since the growth rate of income for various income groups is not the same in every year it is a “variable” and not a “constant” (i.e., the income of the poorest 20% of American households may grow 2% one year and 5% the next year – thus different growth rates – hence, a “variable”).   Since Bartels is trying to explain why the rate of income growth changes from year-to-year, income growth is the “dependent” variable and the variables which he uses to “explain” change in the income growth rate are the “independent” variables (i.e., the variables going down the left-side of page 39 – whether or not we have a Democratic president, Oil prices, etc.).  Put another way, the score on the dependent variable (e.g., the rate of income growth) “depends” upon the score on the independent variable (e.g., whether or not there is a Democratic president) rather than the other way around.  The reason that several of the independent variables are “lagged” is that their effect is not immediate.  For example, one important reason to drink green tea and not to smoke is to avoid health problems you are likely to have many years in the future.  Thus, both green tea consumption and smoking are likely to have “lagged” effects on health.   

Now let me interpret the following statement Bartels makes on the top of page 40: “the statistical results presented in table 2.3 suggest that a 50% increase in the real price of oil (“real” means to adjust for inflation) would reduce the real income of families at every income level by a similar amount, about 1.5 percentage points.”  Now look to the right of “Oil prices (lagged  % ∆)” (which means lagged percent change) in table 2.3 on page 39.  You should see the following numbers: -.032, -.031, -.035, -.030 and -.032.  First, these numbers are called regression coefficients.  Second, notice that all five numbers are “negative” (e.g., -.032 not .032).  Negative values tell us that as the score on the independent variable increases the score on the dependent variable decreases.  Applied to our situation this mean that as oil prices increases the income growth rate decreases.  Third, these five regression coefficients (-.032, -.031, -.035, -.030 and -.032) are the impact of a one unit increase in the independent variable on the dependent variable holding the level of all other independent variables constant (or “controlling” for the other independent variables - just keep reading – the next sentence will clear it up).   For example, the value -.032 to the right of “Oil prices” in the 20th percentile column should be interpreted as follows: if the party of the president remained the same (e.g., we had a Democratic president and he continued in office), the percent of workers participating in the labor force remained the same (e.g., 70% participated and this remained at 70%), the growth rate for last year was 2.5% and remained at 2.5%, the growth rate of families at the 95th percentile (i.e., the 5th richest family out of 100) was at 2.7% and continued at 2.7%, and both the trend variables remained the same (i.e., linear and quadratic – don’t worry about linear or quadratic – I’ll likely discuss them in class), then for each 1 percentage point increase in the real price of oil, the income growth rate of a household at the 20th percentile (i.e., out of a typical 100 households 19 households are poorer while 80 households are wealthier) would, on average, decrease by .032 (i.e., by approximately 3 hundredths of 1 percentage point).  We could also say that .032 represents the impact of oil prices on the growth rate of income for households at the 20th percentile “Controlling” for (or removing the effects of) the party of the president, labor force participation, last year’s growth rate and a linear and quadratic trend.   

Remember that Bartels statement concerned a 50% increase rather than a 1% increase in the price of oil.  If we multiple .032 times 50 we get approximately 1.5 which is how Bartels can say that a 50% increase in real oil prices would result in a 1.5% decrease in the income growth rate.  Since the figures in the row for oil prices are all around .03, multiplying by 50 will yield an answer of about 1.5% for each income group.  

One last item to mention: statistical significance.  Again, look at the -.032 immediately to the right of “Oil prices (lagged  % ∆).”  Notice that the number in the parentheses to the immediate right of -.032 is .016.  As you will note from the discussion below the title of table 2.3 on page 39, the number in the parenthesis (.016 in this example) is called the standard error.  Since -.032 has an absolute value (i.e., plus or minus) of at least twice .016 (-.032 is exactly twice the absolute value of .016) then there is less than a 5% chance that the impact of oil prices on the income growth could be -.032 when the change in oil prices actually has no impact on income growth rates.  Put another way, there is less than a 5% chance that we would have found that the lagged percent change in oil prices had an impact as great as -.032 on income growth when the lagged percent change in oil prices really has no impact at all on income growth (i.e., less than a 5% chance the “true” value of the regression coefficient is .000).   If the probability of “no effect” is 5%, or less, we can say that the results are “statistically significant.”  If -.032 had been less than twice the absolute size of it’s own standard error then we would have concluded that the results were either “statistically insignificant” or “not  statistically significant.”  For example, if the standard error of “Oil prices (lagged  % ∆)” had been .025 then the ratio would have been -1.28 (-.032/.025 = -1.28) and we would have concluded that the results were statistically insignificant (i.e., that the probability that oil prices lagged had no impact on income growth rates would be greater than 5% - perhaps 15% or 30%).   Hopefully that wasn’t all that rough!!  As you read regression results in Bartel’s book (e.g., pages 48, 51, 117, 264, 268, 269, etc.) just refer back to this discussion.   Future quizzes and the final exam may well contain results like those I discussed.  You would be asked to interpret the results.  
Remember the discussion under Assignment 1 concerning the themes of representation and fairness for quiz/exam questions as you read this week’s readings.

What was Dahl’s important question for democratic theory and practice? (1: “In a political system where nearly every adult may vote but where knowledge, wealth, social position, access to officials, and other resources are unequally distributed, who actually governs?) According to Bartels, how did the share of income going to the richest one-tenth of 1% (i.e., the richest household out of 1,000) and the richest 1% of households (i.e., the richest household out of 100) change from the late 1950s to 2005? (1: top .1% tripled while the top 1% doubled) Have changes in the political process increased or reduced the advantages of wealth? (2: increased it) Why? (2: costs of campaigning are much higher; lobbying by business has more than offset public interest groups and the impact of unions has declined) How does the role of wealth affect representation? (not necessarily an answer in the book – you need to think about it yourself)  According to Bartels, why is it surprising that the Republican Party has been so successful over the past several decades? (3: because economically the middle class and poor fare much better under the Democrats)  Over the past three decades how has income growth changed? (9: increased at a much slower rate and has been less evenly distributed)  Discussions of economic inequality have typically focused on what four issues? (14: economic growth, economic mobility, fairness and inevitability) According to Bartels, how valid is the argument that high levels of income inequality are necessary to promote economic growth? (14: not very)  How do the poor in the U.S. compare to the poor in Canada, France and Norway? (15: the poor in the U.S. are less well off) How does mobility in the American compare to Canada, Sweden, Finland and Great Britain? (16: lower in the U.S.) According to Ian Dew-Becker and Robert J. Gordon, where has most of the recent shift in the income distribution occurred? (17: from the bottom 90% to the top 5% - much too narrow a group at the top to be consistent with a skills based explanation for increased income inequality) According to the same authors how well do shifts in skills explain shifts in income? (17: Not well- many highly skilled groups either gained little or have lost ground)  How does the degree of income inequality in the United States compare with many other democracies? (19: higher in the U.S.) According to Bartels, what is “missing” in discussions of income inequality in the United States? (20: anything connecting it to politics) What do Verba and Orren tell us about how Americans view equality? (23-24: we think of different spheres: money, power, etc. and we seek to keep the spheres separate and their boundaries intact) How does the view Americans have of equality affect the fairness of policy? (not necessarily an answer in the book – you need to think about it yourself)  What is the difference in the amount and distribution of income over income classes under Democratic and Republican administrations? (31-38: while the growth rate for all income groups was higher under the Democrats than the Republicans – p. 38 - the growth rate of low and middle income groups is greater than for the wealthy under the Democrats and reversed under the Republicans) According to Bartels, how well does the argument that the time period a President governed impacts income growth rates more than does the partisanship of the President?  (34-36: not well) According to Bartels, how well do the findings concerning the impact of presidential partisanship on the rate of income growth for middle and low income groups holdup after taking account of non-political factors (e.g., oil prices)?  (42: very well)  How do the macroeconomic policies of Democratic and Republican administrations differ? (43-46: Democratic administrations are more willing to run the risk of higher inflation to reduce unemployment and pursue social welfare programs that boost skills and incomes of the poor and working poor than Republican administrations) How did Reagan’s economic and budget priorities differ from Carter’s? (47: cut public service jobs – e.g., CETA replaced with the smaller JTPA, and spending on food stamps, etc.)  Concerning unemployment and real output differences under Democratic and Republican administrations, what did Hibbs find?  (48: after fours years Democratic administrations produced unemployment rates 2% lower and output 6% higher than Republican administrations) Partisan differences on macroeconomic outcomes (e.g., unemployment, growth, etc.) are most pronounced in what year of a presidential administration? (52: the second year)  What was the difference in philosophies behind the Kennedy and Reagan tax cuts? (54: Kennedy wanted to stimulate demand through tax cuts to lower income groups while Reagan wanted to increase investing through tax cuts to high income groups)  After several alternative estimates, what does Bartels conclude concerning the impact of partisanship on the post-tax (as opposed to pre-tax) distribution of income? (60: the partisan impact on each is similar)  How would the degree of income inequality have been different if Democrats had held the presidency continuously over the past three decades than if the Republicans had held the presidency continuously over this same time period? (61: unchanged under the Democrats but one-third greater level of inequality if continuous Republican control)  How would the distribution of income growth under Gore have likely differed from that under George W. Bush? (63: under Gore much greater income growth for low income groups while Bush produced large growth for high income groups and losses for low income groups)

Assignment 9 – Bartels, pp. 64-126 due read by 4/6
Note: How is the paper coming? Assignment 12 requires you to submit a detailed outline for your paper (see the discussion under Assignment 12).  Starting early can be very helpful. 

Statistical Note: Regardless of whether any quizzes last week had contained a statistical table, quizzes this week will.  Make sure you review the discussion of regression analysis in the Statistics Primer from last week’s reading assignment (i.e., Assignment 8) and read the discussion of “probit” immediately ahead.  On page 85 Bartels uses a statistical technical called “probit” analysis.  The reason he uses probit rather than regression is that the dependent variable (whether or not someone voted Democratic) has only two categories of responses (i.e., either the voter voted Democratic – coded “1” - or they did not – coded “0”).  For reasons I’ll mention briefly in class, probit coefficients (e.g., 1.08 in the “High Income” column of table 3.4 on page 85 is a “coefficient”) cannot  be interpreted as I interpreted the regression coefficient of -.032 in last week’s statistical discussion.  However, the “sign” of a probit coefficient means the same as with regression.  For example, the 1.08 at the top of the “High Income” column of table 3.4 on page 85 means that after removing the impact of all other independent variables (i.e., a voter’s position on defense spending, government jobs, abortion, aid to blacks and women’s role) as the voter’s score on government services increased (i.e., going from -1 to 0 would be an increase as would going from 0 to +1), the higher the probability the voter voted Democratic.  This is because voting Democratic is coded “1” and not voting Democratic is coded “0” and the coefficient, 1.08 is positive (i.e., it is 1.08 and not -1.08).  A positive coefficient (again, 1.08) would indicate that after removing the impact of all other independent variables the higher the score on government services the higher the score on the dependent variable (i.e., a “1” is higher than “0”).  Additionally, you can assess the statistical significance of probit coefficients the same as regression coefficients (just keep reading).  Notice that immediately to the right of 1.08 is .10 (i.e., the .10 in parentheses to the right of 1.08).  Since 1.08 has an absolute value of greater than twice .10 (1.08 is over 10 times the size of .10), then we can conclude that 1.08 is statistically significant at the generally accepted standard of .05 (just keep reading).  Therefore, given the relationship of 1.08 to .10 there is less than a 5% chance that we would have found that the greater the level of government services the voter desires the greater the probability they will vote Democratic when, in truth, there is no association at all (i.e., less than a 5% chance that the voter’s position on government services has no effect on the probability that they will vote Democratic).   Bartels divides the electorate into “High,” “Middle” and “Low” income categories.  So, the 1.08 coefficient is the impact of a high income voter’s position on government services on the probability they will vote Democratic.  
Remember the discussion under Assignment 1 concerning the themes of representation and fairness for quiz/exam questions as you read this week’s readings.
Potential quiz questions include: What is Thomas Frank’s argument concerning the electoral situation of the Democratic party? (65: white working class voters are abandoning the Democratic party based on cultural conservatism and a lack of concern by these same voters with economic issues)  What is Bartel’s opinion of Frank’s argument? (66-75: disagrees  -outside the South, lower income whites are actually voting more Democratic today than in the 1950s)  What did Stonecash find? (67: less affluent whites have not moved away from the Democratic party but rather that Republican gains have come primarily from middle and upper income voters) How does Bartel’s definition of working class differ from Brooks (and others)?  (71: Bartels uses the a person’s relative position in the income distribution – bottom third – as opposed to education – lacking a college degree – to measure working class) If we compare the class composition of the Democratic vote in the Kennedy/Humphrey presidential races with the Gore/Kerry contests, what do we find? (74: Gore and Kerry did better with low income whites than Kennedy and Humphrey) Over the past 50 years the decline in the Democratic share of the low income white voter has been almost entirely attributable to what? (75: the South)  Within both the South and the Non-South among which income groups did Democratic party identification most decline? (77: middle and high income groups) Among white voters what is the relationship between a person’s income and the likelihood they support having the government guarantee a job and a good standard of living?  (79-80: negative – the higher a person’s income the less likely they are to support it)  How much did this relationship change over the 1970-2006 period? (80: not much) Concerning the question of “women’s role,” how did the opinion of lower income white voters change over the 1984-2004 period? (83: became more liberal)  What conclusion would you draw from the .52 entry for government services and the .23 entry for abortion in the low income column of table 3.4 on page 85? (85: for low income voters their position on government services had over twice the impact on the probability that they would vote for the Democratic presidential nominee than did their position on abortion over the 1984-2004 period) How can you reconcile what might seem like a contradiction in the following statement Bartels makes: “Thus, while contemporary American politics is increasingly about cultural issues it continues to be primarily about economic issues.” (86: while cultural issues are gaining in importance relative to economic issues, economic issues are still more important in determining elections than cultural issues – it is the difference between a trend and a level or amount)  How do high income white voters differ from low income white voters in terms of the relative weight they attach to the different issue scales in table 3.7 on page 89? (89: cultural issues are more important to high income than to low income white voters) What is the thrust of the findings in table 3.8 on page 92? (92-93: while abortion is somewhat more important as a determinant of the presidential vote of highly religious voters than for other voters, government services is still typically much more important than abortion regardless of a voter’s degree of religiosity) According to Huber and Stanig, how strong is the relationship between social class and voting in the United States compared to the other democracies they examined? (95: stronger in the U.S.)  According to Huber and Stanig, what is the relationship between the degree of party polarization in a nation and the level of support for right-wing parties among lower income voters? (95: negative – the greater the degree of party polarization the lower the support for right-wing parties)  Why? (95: the greater the degree of party polarization the more “costly” the victory of right-wing parties for lower income voters) According to Bartels, why did Republicans typically receive a greater share of the presidential vote than Democrats over the 1952-2004 period? (98-99: 1 – myopic voters – voters weighted the election year economic outcomes more heavily than the outcomes over the entire four year term; 2 – election year growth is more consequential for upper income groups than lower income groups; 3 – greater campaign spending by Republicans – together these three items account for 4 of the 9 Republican presidential victories since 1952)  How would you interpret the 1.96 (1.54) set of figures in column 3 of table 4.1 on page 103? (if you are unsure review the discussion of the impact of oil prices on income growth discussed in the Statistics Primer in Assignment 8) (103: if all other independent variables are held constant, if income growth in year 3 of a presidential administration increases by 1%, on average, the incumbent party will receive a 1.96 percentage point increase in their share of the vote in the next presidential election – however, since 1.96 is less than twice the absolute value of 1.54 we conclude that the result is statistically insignificant)  Roughly how greater a percentage increase in the Republican share of the presidential vote is attributable to voter myopia? (110: about 3.5% - slightly greater than average Republican advantage of 3.3% over the 1952-2004 period) The presidential voting of low income voters is most related to the election year income gains of what income group? (113: the 95th percentile!) How does your answer to the previous question affect representation and policy fairness? (not necessarily an answer in the book – you need to think about it yourself)The presidential voting of middle income voters is most related to election year income gains of what income group? (113: again, the 95th percentile!)  For the electorate as a whole, each one percentage increase in income growth for affluent families seems to produce as much additional support for the incumbent party as how many percentage points of increase in overall real disposable income per capita (i.e., for all income groups together)? (113: about 4 percentage points) Concerning incumbent party spending in presidential elections, what can we conclude from figure 4.5 on page 119? (118-119: Republican incumbents or successors always outspend Democratic incumbents or successors)  What is the impact of income growth on the spending differential between incumbents and challengers in presidential elections? (118-119: the greater the income growth rate, the greater the spending advantage an incumbent or their successor has over the opposition party) Is the vote choice of partisans or independents more effected by the level of campaign spending? (120: independents) According to table 4.9 on page 122, how much does voter myopia, the growth rate of income for high income voters and unequal campaign spending, on average, either decrease or increase the Republican percentage of the presidential vote? (122: increases it by an average of 9.5%)        
Assignment 10 – Bartels, pp. 127-196 due read by 4/11

 Notice that in two weeks you need to bring me a printed copy of your outline for the term paper.  (see Assignment #11 ahead).  

Remember the discussion under Assignment 1 concerning the themes of representation and fairness for quiz/exam questions as you read this week’s readings.
Potential quiz questions include: Concerning the operation of our democracy, why is Bartels hopeful even though the partisan biases in economic accountability seem to produce victories for a party that doesn’t represent the economic interest of a majority of voters? (127: because politicians may govern by public opinion - i.e., pubic opinion may guide or dictate public policy) What did Jennifer Hochschild find concerning how Americans view freedom and equality in the political vs. economic realms? (128: define political freedom in equality terms but view economic freedom in terms of the freedom to be unequal – i.e., differentiation not equality) What implications do Hochschild’s findings have for policy fairness? (not necessarily an answer in the book – you need to think about it yourself) According to Table 5.1, how supportive are Americans of egalitarian values (130-132: questions referring to “an equal chance” or equal treatment generated favorable responses from half to two-thirds of the respondents while those referring to “how equal people are” and “pushing equal rights” were rather less popular – more supportive of equality of opportunity than equality of result – however there is a fair amount of consistency regardless of question wording – pretty strong support for egalitarian values) What is the direction of the relationship (i.e., either positive or negative) between a person’s income and their support for egalitarian values? (if you are unsure of the meaning of positive and negative relationships review the Statistical Primer) (132: negative) Make sure you can write a one sentence answer to the previous question that shows the relationship between a person’s income and their degree of support for egalitarian values and does not use the words “positive” or “negative.” (132: the higher someone’s income the less commitment they have to egalitarian values) How strong is the relationship between a person’s income and their support for egalitarian values? (132: not that strong – personal economic circumstances are not that strongly related to support for egalitarian values) What is the relationship between a person’s political philosophy and their support for egalitarian values? (133: equality is much more supported on the left than the right) What is the relationship between a person’s partisan affiliation and their support for egalitarian values? (133: Democrats are more supportive of egalitarian values than Republicans) How would you interpret .557 in the upper left corner of table 5.3 on page 134? (if you are unsure review the Statistical Primer – also, you need to understand how each variable is coded – i.e., what the various points on the scale for each variable mean – footnote 25 on page 79 is very useful) (134: the greater a person’s support for egalitarian values the greater their support for the view that the government should guarantee a job and a good standard of living – the relationship is easily statistically significant) 

According to the discussion in the Statistics Primer (see Assignment 8), is .557 in the upper left corner of table 5.3 on page 134 statistical significant? Why or why not? (134: easily statistically significant because .557 is much greater than twice the absolute value of .032) According to the analysis presented by Bartels, if we remove the impact of party identification and ideology on policy preferences (i.e., “control” for party identification and ideology – see the Statistics Primer – Assignment 8) how strong is the impact of a person’s commitment to egalitarian values on their policy preferences? (135: rather strong) Compared to other groups, how much warmth does the public have for the rich? (136-137: not that much) Were those at the top of the income distribution more warm to wealthy people or poor people? (138: poor people)  How does the public view the tax burdens of the rich and the poor? (140: thinks the rich don’t pay enough and the poor pay too much)  How do people tend to view their own tax burden? (140: about as many think they pay too much as think they pay the right amount – only 4%-5% think they pay too little) Are a person’s social and political characteristics more related to their perception of the fairness of the tax burden of the rich or of the poor? (142: the rich) Does more of the public think the income gap between the rich and poor is increasing, decreasing, or staying the same? (144: about 75% think the gap is increasing)  Why does Bartels call into question the public’s response to the change in the income gap question?  (144-145: because the public typically expresses such sentiments even when the gap isn’t increasing – i.e., the sentiment does not seem tied to the objective circumstances)  Roughly what percentage of the public thinks that the income gap between the rich and poor is both “much larger” than it was and that this is “bad”? (146: about 31%)  How supportive is the public of the belief that economic success is a matter of hard work? (147: rather supportive – about 45% feel this way – i.e., that unequal effort is a very important cause of income inequality)  How does support for the notion that economic success is the result of hard work compare to the perception that economic success is the result of unequal access to a good education? (147: more support for unequal access to education – 55% to 45%) During the 1990s, how did public support for differences in salaries change? (147: the public became less supportive of larger salary differences) What are “just world” or “system justification” theories? (149: “living in an unpredictable, uncontrollable, and capriciously unjust world would be unbearably threatening, and so we cling defensively to the illusion that the world is a just place.”)  How do Democrats and Republicans differ in terms of their perception that social class effects the opportunity to succeed? (150-151: Democrats are much more likely to see the contemporary partisan landscape in terms of class interests than are Republicans) On what question is the impact of political ideology on perceptions of inequality greatest? (151-152: the purely normative question – whether the increasing difference in incomes between rich people and poor people is a good or bad thing)  How is the level of political information a respondent has related to the probability that they think the income gap between rich and poor has increased? (154: positive – the higher the information level the greater the perception that the income gap between the rich and poor has increased)  When Bartels includes the impact of a respondent’s ideology, as well as their information level, on their perception that the income gap between the rich and poor has increased what does he find? (155-158: that at low levels of information there is little difference between liberals and conservatives concerning perceptions that income inequality has increased and that this is bad – however, as information increases the difference between liberal and conservatives grows)  Concerning agreement on “the facts,” what is Bartels conclusion about how information effects the likelihood that liberals and conservatives will agree on “the facts”?  (159-160: reduces it) According to Bartels, which income group gained the most from the both the 2001 and 2003 Bush Tax Cuts? (164-170: the wealthy) According to Hacker and Pierson, how did public support for the Bush Tax Cuts fare when pitted against alternatives? (173-175, especially p. 175: “Far from representing popular wishes, the size, structure and distribution of the tax cuts passed in 2001 were directly at odds with majority views… The most striking characteristic of the tax cuts … is how far a policy produced by elected officials diverged from the preferences of most voters.”)  What does Bartels think of the Hacker and Pierson’s view of public support for the Bush Tax Cuts? (175-176: Bartels believes it is a mistake to suppose that any specific package could be said to represent “popular wishes” or “majority views: regarding such a complex matter of public policy – many people don’t have opinions, are ambivalent, hold contradictory views, etc.) For the entire sample is the relationship between the level of information a respondent has and the probability they support the Bush Tax Cut of 2001 positive or negative? (remember what positive and negative mean in this context: positive means that as an individual’s information level increases the probability they support the Bush Tax Cut of 2001 increases while negative means that as an individual’s information level increases the probability they support the Bush Tax Cut of 2001 decreases) (183: negative)  If we examine political sub-groups of the electorate (Republicans, Independents and Democrats) what is the direction of the relationship between level of information and support for the Bush Tax Cut of 2001? (184: negative for all groups)  For which political sub-group does level of information have the greatest impact on support for the Bush Tax Cut of 2001? (184: Democrats – among Democrats support for the tax cut declined from 76% at the bottom of the information distribution to only 19% at the top of the information distribution) If the public had been better informed, how would support for the Bush Tax Cuts have changed? (186: have been much lower – from roughly a 32 point margin of victory for the tax cuts to about a 6 point margin) What is the relationship between commitment to egalitarian values and political information on support for the Bush Tax Cuts? (189: consistent opposition to the tax cut was concentrated among the relatively small minority of people who were politically well-informed and strongly committed to egalitarian values) What are “tradeoffs”? (190-192: How much of one item is someone willing to forego in exchange for how much of something else?)  How did tax cuts fare in tradeoffs with reducing either the budget deficit or domestic spending? (191: tax cuts were more popular – and tax increases were less popular – when the proposed trade-offs involved the budget deficit rather than domestic spending) What is Bartels view concerning why so many respondents are unwilling to move in any direction from current fiscal policy? (191-192: ordinary citizens are simply unaccustomed to thinking about trade-offs of this sort and thus are disinclined to go out on a limb by endorsing any particular policy options)

Assignment 12 – Bartels, pp. 197-251 due read by 4/25
Note: Next week you need to show me a printed copy of the outline for your term paper.  See Assignment 12 ahead.  The outline is worth 20 points.   

Remember the discussion under Assignment 1 concerning the themes of representation and fairness for quiz/exam questions as you read this week’s readings.
Potential quiz questions include: According to Bartels, who do Graetz and Shapiro view as responsible for public support for repeal of the estate tax? (198: conservative groups that “made this happen”)  What do Mark Penn’s data show concerning public support for estate tax repeal? (200: substantial public support for continuing the estate tax for very large estates) Among those who would most logically be opposed to estate tax repeal (those with incomes under $50,000 who favor greater government spending and said that income inequality had increased and that this was bad), roughly what percentage favored repeal of the estate tax? (202: 63%) How does one’s perception of their own tax burden and the tax burden on the rich impact their support for repeal of the estate tax? (205: their perception of their own tax burden has great impact while their perception of the tax burden of the rich has little impact) What implications does your answer to the last question have for both representation and policy fairness?  (not necessarily an answer in the book – you need to think about it yourself) According to Bartels, what myths about the estate tax have supporters of estate repeal advanced? (206-207: 1 – the estate tax is a significant threat to small businesses and family farms; 2 – double taxation – many estates are made up of previously untaxed capital gains on assets that have appreciated)  According to the polling results, does public misinformation about the impact of the estate tax tend to help, or hinder, those advocating estate tax repeal? (207-208: help those advocating repeal – two-thirds of the American public apparently failed to recognize that the estate tax is paid only by very wealthy people) According to Bartels, if the public had perfect information about the estate tax, how would it change the percentage of people favoring repeal? (208: little, if any, change)  How does increased information about the estate tax impact the degree of support among the political sub-groups examined by Bartels? (208-211: among Republicans and Independents increased information makes them more likely to support repeal while the impact is the opposite, but only slightly so, for Democrats; for people who didn’t care about inequality increased information made them more likely to favor repeal while among those who did care thought inequality, thought it had increased and that this was a bad thing increased information did make them less likely to support repeal – from pages 210-211)  If everyone felt that income inequality had increased significantly and felt this was a bad thing, how much different would the level of support for repealing the estate tax change? (213: very little) How did Jennifer Hochschild’s working people view the estate tax? (216: opposed to it – viewed it as something that people should be able to hand down to their heirs, a tax on top of a tax, etc.)  What did the Fortune magazine survey in 1935 find concerning public support for the estate tax? (216-217: 44% supported the right of millionaires to continue to possess a million invested dollars – they thought that any measure destroying the millionaire might come too close to touching their own prospects for attaining what they would consider modest wealth)  According to Bartels, why has estate tax repeal been so difficult? (218-219: Democratic elites opposed it)  From 1948 to 1968, how did the minimum wage change in relation to wage gains in the economy as a whole? (226: kept up – was about 44%-45% of average hourly pay) After adjusting for inflation, how did the value of the minimum wage change over the 1968-2006 period? (226: lost about 45% of it’s value)  Typically, how supportive is the public of increasing the minimum wage? (229-232: very supportive)  How does support for increasing the minimum wage vary by income and party affiliation? (232: While Democrats and the poor are most supportive, majorities of Republicans and the wealthy support increases in the minimum wage) Why might politicians not favor indexing the minimum wage? (234: removes the opportunity for them to signal constituency groups about their position on the wage – i.e., reduces the value of “position-taking”)  According to Bartels analysis, how much did the decline in Democratic strength in Congress from the mid-1960s to 2004 impact the value of the minimum wage? (241: decreased it by about $1.05)  How is the impact of labor union strength on the value of the minimum wage affected by Democratic control of the White House? (243: labor union strength has about twice the impact under Democratic presidents as under Republican presidents)  How important was the opinion of a senator’s constituency relative to the senator’s party affiliation in explaining a senator’s vote on the Minimum Wage Restoration Act? (245: party affiliation was much more important) From a political standpoint, why is the EITC attractive? (246-247: 1 - encourages work and avoids the notion of receiving benefits for not working – i.e., the “undeserving poor” – is labeled a “tax credit” even though most recipients have little or no income tax liability to offset; 2 – while the minimum wage raises labor costs, the EITC lowers the cost by stimulating low wage labor supply) 
Assignment 13 – Bartels, pp. 252-303 due read by 5/2
Note: How is the paper coming?  Keep checking the aforementioned newspapers and columnists (see discussion under Assignment 7).  If you do not check frequently, stories and columns that would be useful to you may be removed, or you may have to pay a fee to access them.  Remember, the paper is due next week.  Read and follow the procedure of the sample term paper shown with Assignment 14 (i.e., later in the coursepack).
Remember the discussion under Assignment 1 concerning the themes of representation and fairness for quiz/exam questions as you read this week’s readings.
Potential quiz questions include:  What is the overall relationship between the conservatism of a senator’s state and the conservatism of that same senator’s voting record? (255: positive – the more conservative the state the more conservative the senator’s voting record)  Is the difference in the voting records of a Republican senator from a conservative state and Republican senator from a liberal state greater, the same, or less than the difference in voting records between a Republican senator from a conservative state and a Democratic senator from a conservative state? (256-257: less – party matters more than constituency)  According to the results in the fourth column (i.e., “pooled”) of table 9.1 (page 259), how responsive were the senators to each of the three income groups? (260: quite responsive to the high and middle income groups and unresponsive to the low income group) What are the implications of your answer to the last question for both representation and policy fairness? (not necessarily an answer in the book – you need to think about it yourself) How does the dependent variable in table 9.1 (p. 259) differ from the dependent variable in table 9.3 (page 264)? (259: the dependent variable in table 9.1 is Poole and Rosenthal’s W-Nominate scores where as the dependent variables in table 9.3 – p. 264 – are separate analyses of salient votes or “ideological votes” – minimum wage, civil rights, budget waiver and budget cloture) Generally speaking, how do the results in table 9.3 differ from those in table 9.1? (262: the results in table 9.3 show an even greater disparity in favor of high income constituents than in table 9.1 – the bottom third is still “irrelevant”) How does the dependent variable in table 9.3 differ from the dependent variable in table 9.5? (267: instead of the four “ideological votes” analyzed in table 9.3, the dependent variable in table 9.5 are four votes on abortion) Generally speaking, how do the results in table 9.5 differ from those in table 9.3? (266-267: In general, the disparities are smaller for the abortion votes of table 9.5 than for the ideological votes of table 9.3 – moreover, for two of the four votes the parameter estimate for middle-income opinion is larger than for high-income opinion – however, the bottom third is still “irrelevant”)  How does the partisanship of the president impact the responsiveness of senators to high-income constituents? (273-274: senators were considerably more responsive to high-income constituents with a Republican president than with a Democratic president) How does Bartels evaluate the argument that politicians don’t pay much attention to the poor because the poor don’t vote as frequently as other income groups? (275: the disparity in voter turnout by income groups is not large enough to explain the greatly different responsiveness to various income groups)  How does Bartels evaluate the argument that politicians don’t pay much attention to the poor because the poor aren’t as knowledgeable and don’t contact elected officials as frequently as other income groups? (277: significant differences in responsiveness to rich and poor constituents still appear after allowing for differences attributable to turnout, knowledge and contacting) How consistent are Bartel’s results with the notion that differences in senatorial responsiveness to constituent income groups is the result of differences in campaign contributions between constituent income groups? (280: very consistent with this notion) What is the “indirect” effect of public opinion on public policy? (282: through the election of public officials – electing Democrats produces less over responsiveness to high-income constituents than electing Republicans)  What is the “debilitating feedback cycle” between economic inequality and political responsiveness? (286: increasing economic inequality may produce increasing inequality in political responsiveness, which in tern produces public policies that are increasingly detrimental to the interests of poor citizens, which in turn produces even greater economic inequality) Why might responsiveness to public opinion be low on economic issues such as tax policy? (287: highly technical area that is ripe for concealment and mystification – or high in confusion, uncertainty and unenlightened self-interest) What does Weissberg think of the notion that political inequality can be cured, or greatly lessened, by educating and mobilizing the disadvantaged to support specific progressive policies? (288: not much – political activism does perform as advertised, but only sometimes, and even then usually for those who already enjoy many advantages)  What are Bartel’s two “bright spots” in his findings? (289: 1 – the correlation between class positions and political views in not so substantial that support for egalitarian policies is limited to the poor – i.e., the wealthy may support such policies and hence produce the results that progressives desire; 2 – specific policy views of citizens, whether rich or poor, have less impact in the policy-making process than the ideological convictions of elected officials – thus the poor could elect more Democrats and indirectly impact policy)  According to Bartels, what is wrong with the notion that the greater the level of competition between the political parties the more the poor benefit? (291-292: ignores which party wins – competition resulting in Republican victories doesn’t help the poor) In a study of 10 affluent democracies how did the United States rank in terms of redistributing income to combat increasing income inequality? (296: 9th out of 10 nations – we had a greater increase in income inequality than most and no corresponding increase in redistribution)  According to Bartels how do Americans view the European welfare states? (296-297: not favorably) Relative to the United States how have the European economies performed concerning long-term economic growth and economic mobility? (297: similar growth rates and the Europeans have greater mobility) Concerning attributing economic performance to the government, how do Democrats, Independents and Republicans differ? (297: Democrats are much more likely to attribute economic performance to the government than either Independents or Republicans) What has been the impact of increased economic inequality on social isolation?  (297: positive – increased economic inequality has increased social isolation)  

